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@-1a-» @ —da+b ® 4a-5b
@ 4a-b ® 4a+3b
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3VT+ V3-4V7-5V3
=(1-5)V3+(3-4)V7
=-4V3- VT
=—-4a-b
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3. Bx(x-2y) -x+2y & ARt ALY

@ @3x-1)(x-2) @ (3x+1)(x+2y)
® (3x-2y)(x+y) @ (3x-2y)(x-1)

® (Bx+2y)(x—1)

3x(x—2y) —x+ 2y = 3x(x —2y) — (x— 2y)
= (x-2y)3x-1)
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@ 6a? ® 364>

_6(1 > 0 O]EE A/ (_60)2 = —6a
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O<a<1 g, Va+ /la-1)7 & 225 steiet.
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< J1HL2 g ¥ o] Zolrt 2 9 HApzbe o] ZF ¥ o] B4
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HEE 72 a, b S W, a+ b 9] S Fotoiet
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(oOABC ‘55‘0]):2><2—4x(%x1><1) =9
-~ 0C=0A=+2
P24+ V2),Q(2- V2)°lE& g+ b =4 o]t}




10. V6x V40 + V96 x V150 = 5va & o], ¢ & L5loiat,

> E

> Het a=15

~&B
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(F4) = \/6x40x%x150
= VEx5x5x3=>5V1H
. a=15




11. av2= V128, hV2 = V0.0162 & W, ab 2] 3r-& F5loiet.
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VI28 =82, a =8
31x2 92
V0.0162= Y/ 15000 = 100
9
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12. o35 E= AFIR9] dREolt o3 F Fol% FE o]&sto] 1
e T S gle AL
ES 0 1 2 3
2.6 1.612 1.616 1.619 1.622
2.7 1.643 1.646 1.649 1.652
2.8 1.673 1.676 1.679 1.682
2.9 1.708 | 1.706 | 1.709 | 1.712
O +2.61 @«/27.2
® 283 @ +/2.93

® V2.62+ V2.70

D V2.61 = 1.616

1 _ 3
@ V272 = 4/2.72 % o Fo]x BE o] gso] L
® V283 = v2.83 x 100 = 10 V2.83 = 16.82

@ +2.93 =1.712
® V2.62 + V2.70 = 1.619 + 1.643 = 3.262
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afolat,

1 1
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=(a+b)(a-D)
=(V2-1+V2+1)(V2-1-V2-1)

=2V2(-2) =-4V2

=V2+1
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T O34 a? + b? — ¢? - 2ab, a® — b — ac — be ©] FF A=

@a—b—c @ a+b-c @ a-b+c
@ -a-b-c ® —a+b-c

~&B

a? +b%—c%—2ab = (a-b)* -2
=(a-b+c)(a-b-c)
a?-b?>—-ac—bc = (a+b)(a-b)-c(a+b)
=(a+b)(a-b-c)




15, x of TRt oJAHY ex? —13x - 20 & AFE5H T 40| (ax-5)(5x +b)
A, a+b+c o G2?

@® 16 @ 17 ® 18 @ 21 (@)22

B ~

(ax = 5)(5x + b) = 5ax? + (ab — 25)x — 5b
=cx?-13x-20

ba=c ,ab-25=-13 , =5b = -20

b=4,a=3, c=15

sLa+b+c=3+4+15=22




16.

AGE7AAM Aol HofFAl o245 R3] x o] Aot
HHte] G7)5tdct, Aste @52 L EE Kl "7]E ofthrt
70 H2E I = 5hef Q1 215 StAEY (x - 2) (x - 3)
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O x+1)(x+2) @ x+1)(x+3) @ (x+1)(x+4)
@GC+1)E+5) O G+ +6)

X2 -5x4+6—>x>4+5x+6>x2+6x+5—> (x+1)(x+5)
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@ a4 2ab + b* = (a + b)?

© a® - 2ab + b* = (a - b)?

© a®>-b*>=(a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

©® acx® + (ad + be)x + bd = (ax + b)(cx + d)

® ma+ mb=m(a+Db)

® G, ©,80 @ © ®, 80 ®)e. ®. s

@ ©, 6,170 ® ©,6,7

~&B

1 1
—x422—1x382

=~

X (422 — 382) — ma + mb = m(a + b)
X (42 +38)(42-38) - a® - b* = (a+b)(a—b)

X 80x4 =80
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18. x=4,y=2V3-4 %, 2~y 112 9] §L& Fajolat,
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> ®eh: 16V3

~&B

x+y=2V3, x—-y=8-2v30]E2&

-y +12=(x+y)(x—y) +12
=2V3x (8-2V3) +12
=-12+16V3 + 12
=163
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21. a+ V2.3+542 2] BT Bo| BE §E47} HES Sl §25a, b
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i@+ V2)+(B3+bV2) =3+a+ V2+bV2

c(a+ V2)(3+bV2) =3a+abV2+3V2+2b

T Fo| BE Gt 7] $lEiA £3 7} glojAok stung
CV24bV2=0 Lb=-1

cabV2+3V2=0 La=3
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Vi=a-10°]2, -1 <a<39 M, Vx+da+ Vx—4a + 8= 73]
SHH?

@ 1 @ 2 @3 @ ® 5

B

Vi=a-129 FHAE AFNA x = (a—1)?
Va2 +2a+1+ Va?2 —6a+9

= V{a+17+ /(a-3)

=la+ 1|+ |a - 3|

—a+1-a+3=4
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“l<x<y<04¥4 M, o3 F 1t & 55 I2H?

Y

x2

®

B

-l<x<y<o0o|Bg
® yiy<1
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X

xy <1 09]
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X
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HOMH /—x?y < ay <1
HOMH /-x%y < xy <1




24. 2 < Va+2b<3 S WES= &A% (a, b) £ BF E 7R 5}

oAzt (ha b= AAF,a%b)

2< Va+2b<3, Vi< a+2b< 9
a+26=5,6,7,8

(a, b)=(1, 2), 3, 1), (4 1), (L, 3), (3, 2),
(5, 1), (2, 3), (4, 2), (6, 1)

wpabA 9 7ol o,




25. a+b=4a-b=-=2L8 W, - +a’b-ab>+a-b 2 IS
“Fotoigt,

> E.

> ™. -34

~&B ~

a’—b®+a’b—ab®>+a-b
=a%(a+b)-b*(a+b)+ (a—b)
=(a+b)*(@-b)+ (a—b)
=42x (-2) + (-2)

=-34




